A & ol & AF & H A A
2021E & 20 A L BHE| A
A 100 KA
Z: 110 XAl
g 111 2SMl (2l &)
&H-a-8-5 Oll &FoH & 0] A oH Hlw =2t
ES A 506,175,698 465,142,047 41,083,651
100 Xl Al 4= & 49,404,300 49,650,300 A\ 246,000
110 X Al 49,404,300 49,650,300 A 246,000
111 ESAl 48,814,300 49,300,300 486,000
111-03 =01 Al 4,264,000 4,015,000 249,000
[ 283 ] 4,264,000 4,015,000 249,000
<R > 4,264,000 4,015,000 249,000
oMelrse 10,0002 * 22,500 CH 225,000
OMQIA &2 50,0002 * 1,340 X 67,000
ogelnse 71,3382 « 1,570 X 112,000
OT At 25020 * 3,040,000m 760,000
Ozgas 258,333,334 » 12& 3,100,000
111-04 XH &F Al 9,820,000 8,840,000 980,000
[ 283 ] 9,820,000 8,840,000 980,000
<R > 9,820,000 8,840,000 980,000
oHEEER 3,300,000,0008 * 13 3,300,000
OEXE 5,620,000,0008 * 13 5,620,000
OoFeR 450,000,0008 * 23] 900,000
111-05 Xt S &t Al 8,910,000 10,700,000 A 1,790,000
[ 23 ] 8,910,000 10,700,000 A 1,790,000
<MED > 8,910,000 10,700,000 A1,790,000
Orge 1,636,666,6672 * 33 4,910,000
OFg#s 333,333,334 » 128 4,000,000
111-07 i AHIAl 5,500,000 5,321,000 179,000
[ 23 ] 5,500,000 5,321,000 179,000
<R > 5,500,000 5,321,000 179,000
OEHl A HIAl 458,333,3342 = 12& 5,500,000
111-08 XI'& A HIAl 7,540,300 8,894,300 A 1,354,000
[ Lersl A ] 7,540,300 8,894,300 A 1,354,000
<MSD > 7,540,300 8,894,300 A 1,354,000
OTSOIZAY BHEE(AZXE) 628,358,340 * 122 7,540,300
111-09 XA SAl 12,780,000 11,530,000 1,250,000
[ 23 ] 12,780,000 11,530,000 1,250,000
<R > 12,780,000 11,530,000 1,250,000




A 100 KA
Z: 110 XAl
g 111 2SMl (2l &)
&H-a-8-5 Oll &FoH & 0] A oH Hlw =2t
OsgtLASE 320,000,000 * 1 320,000
OxzASER 38,333,334 « 12& 460,000
ogeolase 6,000,000,0008! * 13l 6,000,000
Osgaxs 500,000,000 * 122 6,000,000
113 NdE =4 590,000 350,000 240,000
113-01 X HE T 42 590,000 350,000 240,000
[ 23 ] 590,000 350,000 240,000
<R > 590,000 350,000 240,000
OxNdEHE ¢ 49,166,667 » 12¥ 590,000
200 MI2l#2l 10,629,247 10,748,071 A 118,824
210 BAXMel 4 4,083,841 4,874,631 AT790,790
211 THAHL T4 265,598 276,210 210,612
211-01 2| WALU2 6,000 5,000 1,000
[ 23 ] 6,000 5,000 1,000
< OHEALY > 6,000 5,000 1,000
OIS Ma A2 6,000,0008 * 14 6,000
211-02 BEMAAUR 259,598 271,210 A11,612
[ 2ers 3 ] 259,598 271,210 A11,612
<EXNZHD > 25,459 0 25,459
ONFAZ2(EXZH D) 20,059
015X 4,7009 * 1778 = 129 9,982
025X 3,9008 * 1625  12% 7,581
03sX 3,2008 * 655 * 12@ 2,496
OFHAQ HABT MS2(SEXBMD)  900,0008 * 6IH A 5,400
<R > 57,000 61,000 A4,000
OZSMA U2 +A(HPD) 52,000,0008 * 14 52,000
OZRMA U2 +A(HRD) 5,000,0008 * 12 5,000
<2FH2ATY > 66,886 99,595 A32,709
ONIE LBISAE AR 11,135,000 * 14 11,135
OHISHOIZY 2X 22 7,235,0002 * 12 7,235
OFSA JIFME =X AU 5,216,2308 * 14| 5,216
ORE=SHEZ AES2 43,300,000 * 14 43,300
<EEASD > 1,950 4,200 A2,250
o232 ARA A2 &Y 390,0008 = 5J4 A 1,950
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: 200 M4
2 210 BAFMASY
& 212 AlBE2Y (2l &)
&H-a-8-5 Oll &FoH & 0] A oH Hlw =2t
OUEAXAC =R (USTHE2SE) AMEE
74,2509 * 303 2,227
OUSSHESSHSE A2 76,0008 * 253 1,900
Ol SX BASE2 1,6009 * 9,400 15,040
213 =224 1,534,422 1,590,939 A56,517
213-01 SN+ 152,200 187,900 35,700
[ Lersl A ] 152,200 187,900 A35,700
< EXBHD > 25,000 60,000 A 35,000
OXNSH SE BEXN+L(EXZHD) 25,000,0008 * 14 25,000
<R > 3,000 5,000 A2,000
OZS KT (D) 250,000 » 12& 3,000
< BgUAY > 117,300 116,000 1,300
OJ=E2AHEY 23 1,000 * 50,000 50,000
OFUSE(UX)NEY ¢33 40080 = 100,000 40,000
OE2Y HESHsH NESX 22 8,0002 = 35074 2,800
OEXNUE S 23 50090 = 10,0002 5,000
OAH=EZ 22UE 23 500! = 10,0002 5,000
OEXOIEAHSAN 23 1,0008 = 5,000 5,000
OEXNXEF 4+ 1,0008 * 9,500 9,500
< BAHA > 6,900 6,900 0
ONMEgsl+Y 3,0008 = 2,300 6,900
213-02 MEHIISH2 L2 700,000 517,588 182,412
[ 283 ] 700,000 517,588 182,412
<EBBLBHY > 700,000 517,588 182,412
OZUNEE B+ 500,000,000 * 14| 500,000
OSAMERHIIZS HREE B+ 130,000,000 * 14l 130,000
OUEHIIS a2 60,000,000 * 14 60,000
OANZE M3 HIIS XMel+42 10,000,000 * 14! 10,000
213-03 MEEELH B+ 150,000 70,000 80,000
[ 23 ] 150,000 70,000 80,000
< BB > 150,000 70,000 80,000
OMEB2E $£HEH2>Y 150,000,0008! * 14l 150,000
213-04 BAY2 442 398,722 457,740 A59,018
[ 2ers 3 ] 398,722 457,740 A59,018




09 i 0

200 Al2l=+=¢

210 o HAM A=

213 ==2¢

&H-a-8-5 Oll &FoH & 0] A oH Hlw =2t
<2AHA > 398,722 457,740 A59,018
Otz 2 5,320 * 244 A * 2,7009! 344,736
Ostea a2 5,3208 « 544 = 1,2009! 31,920
OXBEXAZ 5,3208 * 3009! 1,596
ogexzgxnza 6,820 * 5009! 3,410
OANENLES+ 3,500 * 600Q! 2,100
OstnAEH AXH| 7,45090 = 8002l 5,960
OM35tstA AL 3,0002 * 10& = 3009 9,000
213-05 JIEt&+=28 133,500 357,711 N224,211
[ Lersl A ] 133,500 357,711 A224,211
< EELUAD > 13,500 19,000 A5,500
OuxdgRda B 242 80,000,000 * 10/100 8,000
oolaez +42 11,0008 * 500H 5,500
<EHYBIY > 120,000 338,711 A218,711
OJE2L Melas2 120,000,0008! * 14l 120,000
214 At 4 343,640 377,108 33,468
214-01 Ab B A ALl 166,600 208,480 A41,880
[ 2ers 3 ] 166,600 208,480 A41,880
< AtETHS D > 10,000 0 10,000
O£ R BAE2 S Mk 2,0008 * 5,000% 10,000
< sI=HE > 132,000 106,000 26,000
OsYlladE gy a8 el ¢
100,000,000 * 14l 100,000
ODN0 ZEHY P22 2L 1002 = 80,000 8,000
OoR9ellMe 22 U2 2002 = 120,000kg 24,000
< 2EHALALA > 24,600 102,480 AT7,880
OZDI A4 BHOf $¢ 10,0002 = 20004 * 12€ 24,000
OZJIHZE HZHE > 10,0008 * 501 = 12& 600
214-05 J|EFALEI 2= ¢l 177,040 168,628 8,412
[ 23 ] 177,040 168,628 8,412
< EXNBHD > 18,540 0 18,540
Oz =2 +LS(SENJMI)  1,545,0008 » 12& 18,540
< ML > 10,000 10,000 0
OYWHOolZ J&MHE FTIE £ 10,000,0008 * 14l 10,000

_6_




09 i 0

200 Al2l=+=¢

210 o HAM A=

214 AFi g (2l &)
&H-a-8-5 Oll &FoH & 0] A oH Hlw =2t
< sYIEHME > 148,500 154,000 25,500
OsJIHLN ¢+ 130,000,000 * 14l 130,000
OSASIHBUSHE 29 +¢ 2,500,000 * 12| 2,500
OXRBRsA BAZ 80,0008 * 200% 16,000
215 48349 771,520 713,552 57,968
215-01 A4+ne324+ 771,520 713,552 57,968
[ Lesl A ] 771,520 713,552 57,968
<R > 681,570 606,420 75,150
OZHE: D22 (MRD) 681,570
O FSH 17,573,000,0002 * 3/100 527,190
O SEHGA 2,327,000,0009 = 3/100 69,810
O XIS Xt Al A Al 2,376,000,0009 = 3/100 71,280
OWEHE +¢ 443,000,000 * 3/100 13,290
< BEAD > 40,000 40,000 0
OsNdgees d4+uea 500,000,000 * 8/100 40,000
<EYBIY > 49,950 54,000 A 4,050
OstFNERS3 F4+u23 555,000,0008 * 9/100 49,950
216 Ol X4 ¢ 870,757 1,532,100 AB61,343
216-01 BB 201X +=¢ 865,257 1,530, 100 A 664,843
[ 23 ] 865,257 1,530, 100 A 664,843
<EXNBHD > 100 100 0
OJIEI2B203 OIRH+=L(ERZ M) 100,0008 = 13] 100
<R > 864,000 1,530,000 A 666,000
O2Z02 0= (W2 W) 96,000,000,0002 * 0.009 864,000
< BAHA > 1,157 0 1,157
OJIEBI22013 0l R(B2HA) 144,6259 = 83] 1,157
216-03 JIEFOI Kt 2= 2 5,500 2,000 3,500
[ 25 ] 5,500 2,000 3,500
<R > 5,500 2,000 3,500
OMY . HME2 s32el0 e 0K+ (HR)
1,500,0002 * 23] 3,000
OXSXHA(F8) Ol Kj 244 o 5,000,000,0008 = 0.05% 2,500
220 LAIE M2 6,248,606 5,518,940 729,666
221 THAHOH 22 894,844 55,500 839,344
221-02 Al - SR AL =423 55,000 55,000 0




09 i 0

200 Al2l=+=¢
220 SAIHAN LA+

221 THAHDH 2t ==&

B.8-.2 0l &k o8 B ol by HZE2
[ Luet3 A ] 55,000 55,000 0
< MWD > 55,000 55,000 0

O=R A OH2t 5,000,000& = 1 5,000
OZ S Mak o2t 50,000,000& = 1A 50,000
221-03 S M &HOH 832,764 0 832,764
[ LBr3 A ] 832,764 0 832,764
< SANED > 832,764 0 832,764
OH&EI+ &3 832,764,7503 * 14 832,764
221-04 2 E 302 7,080 500 6,580
[ Lueta A ] 7,080 500 6,580
< Aol 2 > 6,780 0 6,780
Odotoe 2 6,780,000& = 1& 6,780
< EBEAA > 300 500 A 200
O==23 W2 20,000& = 154 300

222 XA RYS 180,000 180,000 0
222-01 REXI &AM 24 180,000 180,000 0
[ Letsl A ] 180,000 180,000 0
< EBZEMD > 20,000 20,000 0

OZMALH B g2 2g3
20,000,000 = 14 20,000
< sgllsdly > 160,000 160,000 0
OFANSEE 3)
160,000,000& * 14l 160,000

224 J|Et=2 4,808,762 4,918,440 A 109,678
224-01 MEX 2= 3,000 3,000 0
[ LB ] 3,000 3,000 0
< WS > 3,000 3,000 0

OMEgxdeE =< 500,000& = 6 3,000
224-04 X &= THEAFE 90,000 0 90,000
[ Loetsl i ] 90,000 0 90,000
< SELUFL > 90,000 0 90,000
OXNETHZAL = 90,000,000& = 14 90,000
224-05 X2 w 2 Al 4,512,483 0 4,512,483
[ B3 ] 4,512,483 0 4,512,483
< WS > 4,512,483 0 4,512,483




&: 200 AlQl4el
Zo220 AAEAIL 2L
50 224 JEIH 2 (2r9:88)
E.2-8-2 0l &k o8 B ol by Bl =2t
OXNYAHIA L (HDD)
973,000,000,000& * 0.005350988 * 86.67% 4,512,483
224-07 2l=+=¢ 203,279 4,915,440 A4,712,161
[ LBrs A ] 203,279 4,915,440 A4,712,161
< =QUEX W > 2,009 0 2,009
Ox,8,10 stMsH XJALY 2,009,000& = 14 2,009
< WS > 121,500 4,820,000 A 4,698,500
OXHb&aZ 100,000& =« 103l 1,000
O=8 31 &d &g Al 100,000,000& =« 14l 100,000
O&Z=2d =& A 20,000,000 = 14 20,000
OXNSIM (&) ALR A2l 100,000& * 54l 500
< Ao 2 > 14,450 5,000 9,450
O=MEsNEgd Hegg = 5,000,000& = 14 5,000
O£ A &2 HIE ¢ 100,000 * 12742 1,200
OXgAY UHRE3 = 550,000& = 15ha 8,250
<EAA > 1,400 1,400 0
OX<LAtg2ts s A&l 10,000& = 100A 1,000
ORSFF0IHE EAE AHNM 200,000& = 23| 400
< SSIAIEME A > 120 240 A 120
ONHEIAASHE LUHRED =¢ 10,000& = 12& 120
< =AM > 63,800 63,800 0
OZEHFHIS XNIAANS (L) 11,850,000 * 40 A& 47,400
OZEHFHIS XNIANG(SHH) 3,280,000 = 50 A 16,400
225 Nt ¢l 365,000 365,000 0
225-01 XA E ¢ 365,000 365,000 0
[ B3 ] 365,000 365,000 0
< EXE ML > 365,000 365,000 0
OFFX MHEZ(SEXZHD) 5,000,000& = 14 5,000
ONSXANEE 28 WEHS(EXZH ) 5,000,000& = 14 5,000
OAEIIH L OIEXES 28 BEHB(SXAXD)
5,000,000& = 14 5,000
ONSXZAXH WEHZ (S XHE H 1) 150,000,000& = 14 150,000
OHALEE NEHHZ(EXNHZ M) 200,000,000& = 14 200,000
230 ANLYHAZMM - 2= 296,800 354,500 A57,700
231 &A™ 3 25,000 20,000 5,000




09 i 0

200 Al2l=+=¢
230 NSHIMM - Fut=
231 &=

&H-a-8-5 Oll &FoH & 0] A oH Hlw =2t
231-01 =2 25,000 20,000 5,000
[ 23 ] 25,000 20,000 5,000
< EXBHD > 15,000 20,000 A5,000
OXsSx 23 NAZ L HAS(ENBND)
200,0008 * 75A 15,000
< BEAY > 10,000 0 10,000
ORsaaYY UE3 200,000 *» 502 10,000
233 BHAS 3,500 2,000 1,500
233-01 B3 3,500 2,000 1,500
[ 283 ] 3,500 2,000 1,500
< OHAAMY > 3,500 0 3,500
O=ZeMasAZ 3,500,0002 * 12 3,500
234 WEHE 268,300 332,500 A 64,200
234-01 X BB VER 231,200 0 231,200
[ 285 A ] 231,200 0 231,200
<EXNZHD > 230,000 0 230,000
OFFA BHBA(ENZ M) 40,0008 = 2502 10,000
ONSx 23 BHS(ENZ M D) 80,0008 * 1,875 150,000
OHMALE WEHZ(EXNFHMD) 100,0008 * 7002 70,000
< HEASHZR ALY A > 1,200 0 1,200
OXtgol RHMT ALV 1,000,000 * 12 1,000
OFHI |t BEHZ 40,0008 = 5A 200
234-02 JIEFDIEH 37,100 332,500 A 295,400
[ 2ers 3 ] 37,100 332,500 £295,400
< Z=Q=EIY > 10,000 0 10,000
OZjAFXTA A8 DEHS 80,0008 * 125 10,000
< BEAY > 10,000 10,000 0
OF0sE s B2 243 50,0008 * 1002 5,000
ORSANNAD 2298 BE2 5,000,000 * 12 5,000
<HAEIEDL > 4,000 3,000 1,000
OAZERIMY ety OHE B2 200,0008 * 20A 4,000
<BALBHY > 12,000 11,000 1,000
OBZ2AHS 2 WEHZ 10,000,000 * 14l 10,000
OXiZaY 28t YEH2 2,000,0008 * 12 2,000
<AL > 800 800 0




200 Al2l=+=¢
230 NSHIMM - Fut=

09 i 0

234 WEHE (2l &)
&H-a-8-5 Oll &FoH & 0] A oH Hlw =2t

Odt=0lYg 22 20/ DWEA2 200,0009 » 42 800

< BAHA > 300 500 A 200
O=QUALEAY 2L DBEB 100,0009 * 3¢l 300

300 XY w2 Al 251,981,000 248,333,000 3,648,000

310 XL n2Al 251,981,000 248,333,000 3,648,000

311 XY Al 251,981,000 248,333,000 3,648,000

311-01 B S DA 228,485,000 248,333,000 | A 19,848,000

[ 252 ] 228,485,000 248,333,000 | A 19,848,000

< JIE2AAA > 228,485,000 248,333,000 | A 19,848,000
OESnN=2A 228,485,000,0008 = 14| 228,485,000

311-03 2SS MDAl 23,496,000 0 23,496,000

[ 23 ] 23,496,000 0 23,496,000

< JIE2AA > 23,496,000 0 23,496,000
ORSANRA 23,496,000,0008 * 14l 23,496,000

400 ZH N2 E 6,145,845 358,555 5,787,290

420 Nl - 2XEHNE3ES 6,145,845 358,555 5,787,290

21 Nl - 2EFHNR3S 6,145,845 358,555 5,787,290

421-01 Al - PLBZEH L2 6,145,845 358,555 5,787,290

[ 2833 ] 6,145,845 358,555 5,787,290

<R > 6,134,130 358,555 5,775,575
OFSA 17,573,000,0002 * 27/100 4,744,710
OSEdaAl 2,327,000,0008 = 27/100 628,290
OXI Xt Al & Al 2,376,000,0008 = 27/100 641,520
Oxee &g 443,000,000 * 27/100 119,610

< OHMAAD > 11,715 0 11,715
OANER E4ne3 11,715
odzcEIER 25,718,160 * 0.3 7,715
ostdEE=2 4,000,0008 * 12 4,000

500 BX2 188,015,306 156,052, 121 31,963, 185

510 2NE2E3S 153,173,540 121,036,540 32,137,000

511 2 NBX2E 153,173,540 121,036,540 32,137,000

511-01 32 X2 133,570,182 104,037,264 29,532,918

[ 23 ] 133,570, 182 104,037,264 29,532,918

< Fo=IB > 55,383,906 50,304,568 5,079,338
OlgA=XR] 55,317,889




& 2x2

2 2DEXZS

& ENES= 3= (22 dd)

F-2-8-5 Ofl &F ot 8 0 oY Husz2
OS8HS X8 SEAMHIA XE 64,680,000 * 14| 64,680
OFUM=E(IxE) N2 135,066,000& = 14 135,066
OZM==Z (X &) X= 124,033,000& = 14 124,033
OXMeA=s S X2 1,513,726,000& » 14| 1,513,726
OZMAL el XA (SRLRel) 76,400,000& * 14| 76,400
OZOH L Xtel K& (LeradRtel) 130,340,000& = 14 130,340
O ZOoH L Xtel XI& (A2 Xtel) 26,260,000 * 14| 26,260
O ZOoHQl L Xrel XI & (Al 2E & O0HQl otOHIHA )
26,890,000& * 14| 26,890

O &l X017 X 854,000& = 14l 854
OHEZEM =4HE XA 700,000 = 14l 700
OMASZEOQ MEH & HAH X& 800,000& * 14 800
oFMAAZH K& 104,845,000& = 14 104,845
OXMLESXASA 1,329,300,000& * 14| 1,329,300
O=EZHUMC 832X 20 H&=H 2,970,000& * 14| 2,970
OLEMEAMEA X 192,636,000& * 14 192,636
OLYTMY =2ESHHIA X2 144,877,000 = 14 144,877
oggdMe dUhs=sAEA X 69,936,000 * 14 69,936
OFZUMAANFAIE 2 758,353,000& * 14! 758,353
OFUMAANFAIE JIsS2EL AL 159,786,000& = 14 169,786
OFUMAXATHEAIL JIsE2 ALY 2,000,000& * 14 2,000
oZzg Hddl XNz 400,000& = 4564 2 182,400
oZzg 4yl XN 50,0003 = 4564 & 22,800
Odzg 2=H X 43,664,000 * 14| 43,664
OLoXiel ¥ AS2SXE ALY 2,633,969,0008 * 14 2,633,969
OLQSE=SAHA 2,043,990,000& * 14 2,043,990
o0Zzd R4 239,625,000& * 14! 239,625
oJIxz¢3 X2 37,821,192,000& » 14| 37,821,192
O=ike SSHHEAMNHIA 119,252.5% * 602 71,790
OdA=N 5,108,895,000& * 14| 5,108,895
(O FAFSPNE=0: 50,949,000& * 14| 50,949
OXNgXtgdy 29 233,063,000& = 14! 233,063
ONEZZAY 1,176,271,000& » 14| 1,176,271
ofltgda= 59,598,000& * 14| 59,598




& 500 2=
2 510 =02x3S
g 511 = NEXSS (Sl &&)
Z2-2-8-5 Off &4 & E Ol At Hns2
osYIN=SH | 13,160,000 * 14 13,160
osYINsSHI 45,900,000& = 14 45,900
ouglss% 16,062,000& = 14l 16,062
oFHsLI S =3 23,050,000& * 14 23,050
OFYUMEAZ 39,335,000& = 14 39,335
O 2SI ASH| 320,940,000& = 14l 320,940
O S&Atell 2el A& 7,500,000& = 14 7,500
O S Atell 22l At 1A dl X & 49,284,000& * 14 49,284
OMNI=ERLA(ASISIAIL) XS 250,000,000 = 14l 250,000
Ols8gs8AER] 35,000
O ¢=2c| =Huiel X & 35,000,000& = 14 35,000
OlmotN=L] 31,017
ONESAX doll2E8= X& 1,443,000 » 14| 1,443
O XN SAH ZLIUWIOIE Al 29,574,000& * 14| 29,574
<ETNEHMD > 6,244,943 3,678,581 2,566,362
Olmotd L] 3,131,965
oXNFedAdXtel At 80,000,000& = 14 80,000
OXdY EU 22 ZEHE 715,000,000 *» 14 715,000
OdYg 3 s=tms 23t 54 AIY
183,960,000& = 14 183,960
OEXAEIDZL #4W UXNE X2 Z2RE
153,005,000 » 14 153,005
OXNGANSAZH LR AL 2,000,000,000& = 14l 2,000,000
ORMASHETER] 2,045,940
OATHAUUHX =K & A 2,045,940,000& = 14l 2,045,940
Oolng+Ls?] 446,238
OMBIFIY AFHIHE XA 14,300,000& = 14! 14,300
OXNgse dXltelXe 180,000,000& * 14 180,000
odszdEgXelEsE N 251,938,000& = 14! 251,938
O[E2HHINE L] 570,000
O SYLLAMNE FIEIMEAL 570,000,000 = 14l 570,000
Ol=Ens*=] 50,800
O SHAIZ X E & 46,800,000& = 14 46,800
OMZE Xt XIH201EFDEX = X
4,000,000& = 14 4,000




& 500 £EX3
2 510 R UEX3S
g: 511 2 NEXE3S (2l &)
&H-a-8-5 Oll &FoH & 0] A oH Hlw =2t
<R > 75,345 110,620 235,275
OlZEnss] 75,345
OMEFEHI AT AL 75,345,000 * 14 75,345
<2FHAZY > 728,113 456,974 271,139
olesdszzR] 142,473
02021 RFAZEN XA 30,300,000 * 13 30,300
O=2A=20F H=LAX 25,773,0008 * 12 25,773
OWMEAE B2HHAY 80,000,000 * 14 80,000
OXSAE SAIAH SXELAY  6,400,0008 = 10HA 6,400
Ol23MHE] 585,640
O=JXNE ¢ SESSMNM BE+TUI(BH)
509,640,000 * 14| 509,640
OSNNI2F SE2AY 26,000,0008! * 12 26,000
ONEEAY EANY 24,000,0008 * 12 24,000
OMM25 I ALY 26,000,0008 * 12 26,000
< BEUAY > 1,761,221 556,609 1,204,612
Oleng] 10,000
oNEEARY 10,000,0008 * 12| 10,000
olge=] 37,747
ONZZAHSENR X 37,747,0008 * 12 37,747
Ol&ra &] 12,340
OUMMEES X 12,340,000 * 12| 12,340
O[ZEns=] 1,701,134
O XI = TH = ALAF 1,623,061,00091 * 12 1,623,061
O HEBAIXIDH 78,073,000 * 14 78,0783
<HAEIEL > 11,687,129 11,132,948 554,181
OlA=XR] 10,889,566
OZAHXS Ol XX 4,925,0008 * 12| 4,925
OOISEXAL ESER0S N4 52,391,0008 * 14 52,391
ORESOISL YT X 42,733,0008 * 14 42,733
ools+yY X 1,974,000,0002 * 12 1,974,000
OOIS+YXIY A2y FaY| 645,000 * 14l 645
OOISESHMLRY AHl X 25,168,0008 * 12 25,168
OJIHEOIS Aoll2E2 X 1,824,0008 * 12| 1,824




& 500 2=
2 510 =02x3S
g 511 = NEXSS (Sl &&)
Z2-2-8-5 Oll &F o & E Ol At Hns2
OXN<EotsHE 28Hl XA 664,560,000& » 14 664,560
OS4dE8 XNE0tsHE =IHXE 16,428,000& * 14l 16,428
OXNSotsHE &ZHa8l X& 20,000,000& * 14| 20,000
OOts=X WAL ItA XI& 159,915,000 * 14 169,915
OUESNSSMS(SFR-XXH HS2Y)
2,775,000 = 14| 2,775
OFHAANE OlsSEAMEIA N 280,310,000& * 14 280,310
OE=suXA oAd X2 3,577,966,000& = 14 3,577,966
OESuAF MM XA 764,913,000& = 14| 764,913
oogold 24 X 92,126,000& = 14| 92,126
oolgold Jls:2Z 98,802,000& = 14| 98,802
Og®Ro0t B2 XA 2,456,822,000& * 14 2,456,822
oJtdg=s+E X& 651,863,000& » 14 651,863
ORI 2LHE" 24 1,400,000& * 14 1,400
Ol&IE=R] 689,049
OMZHH XIE 2F 293,110,000& * 14 293,110
ootolEs XN&E 385,023,000& * 14! 385,023
oFad ALXAAMNZ 10,916,000& * 14l 10,916
OMBYAZAHAA] 108,514
OKNXM Iz 2el X& 1,514,000& * 14 1,514
oogopEAas dgacd 29 2,000,000& * 14 2,000
ooelolSaA NI X 88 105,000,000 * 14 105,000
S22 > 4,553,511 2,412,683 2,140,828
oz Rl 4,553,511
OJIZ=&83d UEHa g3 XN 2,200,000& * 50% 1,100
OEAZQERN HMEIE XA 4,300,000& = 14 4,300
oINS ES MY 7,000,000& = 100CH 700,000
O&IISEXN(AE) B2AY 16,000,000& * 30CH 480,000
OHIIOIEX ESAH 1,800,000& » 20CH * 50% 18,000
O 0lel0l S&fxte LPGAH & atAte
5,000,000& = 2501 * 50% 62,500
OOt SZ HoioEAL X3 A 11,920,000& = 14! 11,920
ONEE MN=A E9d E=AME  200,000& = 6500 = 60% 7,800
OARZASZE LXAIE EXXAA
60,000,000 * 15J0 & = 50% 450,000
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& 500 ExX3
Z: 510 2DLEIES
8 511 2NBEIE CERED
Z.n-8-2 ol &k 24 &1 0l ot o Bl Z 2t
O£dOoIEMZ X&AALS 625,550,000& » 14| 625,550
OAXHIo HSH 1,466,830& » 1H » 120H& » 90% 15,841
084 857 sauH XKL
4,800,000& = 1704 81,600
OLEEERX ZJIHX XRAALS
1,600,000 = 1,100CH * 60% 1,056,000
O LPGSI2 Xt &I K& A 4,000,000& * 80CH * 50% 160,000
ODPFE 2 X &AL 3,800,000 * 120CH * 50% 228,000
O A& DPFREE XA 11,000,000 = 2CH * 60% 13,200
OAEIIAH AT XIS A 16,500,000 * 20CH * 60% 198,000
OOIHIBIT SIS O 2AXY AL
317,400,000& * 141 = 50% 158,700
OOIHIBIT S8 HER ZA U A
23,000,000& * 1CH * 50% 11,500
OOIMIBIX 3%t@ ==@2| C2 7
43,000,000& = 1CH = 50% 21,500
oot NBUSUHEX LXK AL
15,000,000 = 2CH = 70% 21,000
OotA - ot MeD|l HALY 112,000,000& * 14 112,000
O=Z& HHE =HEAS 40,000,000& * 14 40,000
OMEEsUIY EX XJAY 75,000,000 * 14 75,000
< TSZ=gu > 43,268,851 27,356,026 15,912,825
Ols8s8AER] 43,268,851
OZENIEM XA 343,131,000& * 14 343,131
O=x3gz&d 11,000,000& * 14 11,000
O=ZEMElts LAY 1,800,000 * 14 1,800
O==ME0E2 AHESFIMEE L XS 2,982,000& + 14| 2,982
O=ZEdMEs2dits ARE HEXRA 37,800,000 * 14 37,800
O=&08 MElA tdu=s XJAAS 184,000 = 14] 184
O=sZENELSEXNAAMZ 120,000,000& * 14 120,000
O=sXolE2el X3 A 176,093,000& * 14 176,093
O&FYE =g =381 379,358,000 * 14 379,358
O=& ES0HA MEAZ 34,250,000 * 14 34,250
OANSBE(SY)IYN 0] ALY N
30,000,000 * 14 30,000
Ofdl OlfdMESE ZEAE X 1,320,000& * 14 1,320




& 500 ExX3
Z: 510 2nEx3ES
& 511 2NLE3ES (2r9:88)
E.2-8-2 0l &k o8 B ol by Bl =2t
O= Bt&= THHIXI& 1,032,000,000& * 14 1,032,000
O= EBI%2 oXs NS 248 N 15,000,0008 * 14 15,000
O= tt&= &Szt AlE EHl X& 250,000,000& = 14 250,000
O=sgJIH S&EX XA 32,680,000& = 14| 32,680
oJl2d SdX=M N3 33,852,000,000& * 14 33,852,000
OE=dAHEXN=ZMAZ 2,000,000,000& * 14 2,000,000
O AsHAEIEXNEAM 1,232,024,000& * 14 1,232,024
ORJI=LAMAA 87,431,000& = 14| 87,431
OXBAHZ(ELHEN )X 769,386,000& * 14 769, 386
OE2LNEH Ss4x2d X& 125,177,000& = 14 125,177
oIt R(RIE)XNHA 1,193,672,000& * 14 1,193,672
o= 2E 96,000,000& = 14| 96,000
OsUSUANRSHEXE ALY 1,020,000,000& * 14 1,020,000
OGAP et&d & 2AXIE 37,500,000& = 14 37,500
O=sttE S0 2N 139,000,000& = 14 139,000
O=s4t= OHAE XNEAAZ 5,400,000& = 14 5,400
OAMSR0 HUTOIE 583 (HUTZZ)AY
44,800,000& = 14| 44,800
O=gY=0F ATHMUUEX AL X 170,126,000& = 14| 170,126
OZXS=Ssuws U2tA XJAAS 13,737,000& = 14| 13,737
O =4 Y MaX wsHd8 X 15,000,000& = 14 15,000
< AHEEH 2D > 3,271,407 3,173,492 97,915
Ofare 8] 3,245,337
OFRANMEI &4 U= 375,000& = 8¢ 3,000
O & AMEIA =01 X 10,562,000 = 19! 10,562
O Xt HetA Oel= 100,000,000 = 100 A 100,000
OADIEJIE ZHAY 15,000,000& * 10H A& 15,000
ODIMEZRX M& ZA= =4 471,000,000& = 1042 471,000
OZ3MExHd 2,232,366& * 41ha 91,527
OZURxE 199,200& = 10ha 1,992




& 500 2=

2 510 =02x3S

g 511 = NEXSS (el ®J)

Z2-2-8-5 Off &4 & E Ol At Hns2
OXNSEESXEE 10,406,734% = 30ha 312,202
OUst+=8Uxd 7,500,000& = 5ha 37,500
ODIMEZX M2&Z =8 11,000,000& = 2ha 22,000
OEHM=IHRII 836,441& * 785ha 656,606
OOIMZRX M & SA=It310I 1,356,000& = 100ha 135,600
O S3&HE IR 12,851,273& = 11¢ 141,364
O=30 Jise &4 X 2,460,000& = 12! 2,460
O=THS S&2¢el 1,600,000& = 14! 1,600
O LEIAHHE 22 MY 10,000,000 = 1CH 10,000
OArRE M3 Ay 20,768& * 1,487ha * 50% 15,441
O&ENE 2% MHUX 2,120,000& = 10& * 50% 10,600
O ZuaE I3 3,232,600 * 2500 A * 20% 16,163
OYdsEs M&E X HAXAIE 9,950,000 * 20004 * 20% 39,800
OWANE S KRSIIXM 5,681,819% » 22004 * 20% 25,000
oY= 4535 5,960,000 * 5000 & * 20% 59,600
O Yats Mao|ptxy 11,762,500& = 80JH & * 20% 188,200
OLEXNSMACTIZL(AM) 8,000,0008 * 15IHA * 20% 24,000
OZ & &S THHi2tel 2,000,000 = 400024 * 70% 56,000
O=Riad 29 12,750,000& * 13l 12,750
O=dle 23 12,750,000& * 13l 12,750
O At AL 438,504,000& * 1J0HA 438,504
O &HXl2ke| 4,145,000 * 1H2 4,145
Ou=dI2 0N 256,696,000& * 13 256,696
O LSS RICHE (HAAH) 63,333,000& * 13 63,333
O &S 2RI CH 2 (XH= Al 2,340,000& * 13 2,340
O et Sl 5,727,000& = 12 5,727
odadA=z3xE X 1,875,000& * 13 1,875
Ofol =42 ] 26,070




& 500 2=
2 510 =02x3S
g 511 = NEXSS (Sl &&)
Z2-2-8-5 Off &4 & E Ol At Hns2
OXE&d HUXZ2ZEH XA
4,716,735% * 8 = 30% 11,320
OFEONEZEAXNE MY 10,000,000& * 2 * 70% 14,000
OLERT EEMZT HIPAES MY
2,500,000& = 1& » 30% 750
< St > 1,264,443 1,119,862 144,581
Ol=sgstAass] 1,264,443
O7HMSA & AlMEAE 7 ANJFOI=HA)
214,439,000& * 14 214,439
OFMS ogesa X& 445,340,000 = 14 445,340
OFHMY 2 Al HgYE 72 XA (HEESFH])
69,600,000& = 14! 69,600
OFME & AlNEAE 7 XN (HBSAUZ)
18,297,000& * 14 18,297
OFME & AlNEAE 7 XNAOIS=0 2Y2e)
84,000,000& = 14 84,000
oOdX=E4d=s XN 160,000,000& * 14 160,000
O&XME Jt= HMel&Hl X& 90,000,000& = 14 90,000
OSH=E=L 29 XA 134,000,000& * 14 134,000
OH&ED SSEM XA 24,336,000 * 14 24,336
OSSSANsd AEE TS 8,000,000& = 14 8,000
O 20 F&t=s AUTANE =24 300,000& 14 300
OHtdEXE XA 15,000,000& 14 15,000
ORIl - RASS YAl X 200,000& * 14 200
ORI -RAS=2 *E2 - 235 HIE XN 481,0008 * 14l 481
o210l =43 == XN 450,000 = 14 450
< ALY > 920, 140 913,992 6,148
Olsgs8aER] 161,152
OBt S=IHE M 161,152,000& = 1004 161,152
Ol FA L] 758,988
Ogs81X7 S3AX SUASXSE HEIALS
450,000,000& * 1JHA 450,000
Og82X 7 S3AK SUASXSE HBIALS
208,000,000& * 10§ £ 208,000
Og&3X7 S3AK SUASXSE HBIALS
67,400,000& * 1JH 2 67,400




& 500 ExX3
Z: 510 2nEx3ES
& 511 2NLE3ES (2r9:88)
E.2-8-2 0l &k o8 B ol by Bl =2t
OBAUAX SUABX S FUIAL A=Yl
2,600,000& = 14 2,600
OMZel Xt g BIS&310 2= 28,000,000& * 10HA 28,000
ool Ws2AH XN 2,418,000& = 14 2,418
O=Q&EN o ¥ &3 ZH| 570,000& * 14 570
< SADHE D > 3,159,400 1,476,291 1,683,109
[ZENSE] 3,159,400
OZLSs TAITHMAIY 1,640,000,000& * 14 1,640,000
OsUHEZMNY =EINEXRAAS 11,400,000& = 14| 11,400
O=AH=SH NI AL 1,508,000,000& * 14 1,508,000
< B > 598,203 209,498 388,705
[BA=XR] 598,203
Os0HE Az MHIA HE A 284,807,000& = 14| 284,807
OMASE JIMAH ZHER NEAS 280,000 = 125¢Q! 35,000
O Motstdiel A4 H| Xl & 1,039,560& * 9¢l 9,356
oA e ALY 21,536.2& « 3,860¢! 83,129
O BtMIQl 2HO| Y 2 E 2 AXE 6,257,750& * 43| 25,031
OBHMQITIGHAI TaHK ME KA
170,000& = 12& * 27¢l 55,080
O&aAE X=H X& 5,800,000& * 14 5,800
058) Mg2eld 41 29 X
100,000,000 * 1JH A& 100,000
< sgJIsdH > 653,570 1,083,055 A 429,485
CEREE] 423,570
OGAP AE T SHAY 100,000,000& * 14 100,000
OLXDE M2E NS LAAH Al
14,000,000& * 14l 14,000
OANE=Y HAEHE W=EE =4 103,000,000& * 14 103,000
OELIFAY 294 17,000,000& * 14l 17,000
OzZEIFL2RAY 29H 5,000,000& = 14 5,000
Olts2hr 225 & 30,400,000 = 14 30,400
O=Z2 dolls gHMy X 45,000,000 = 14 45,000
Odolls At 24 11,000,000& * 14l 11,000
Odiolls 22X 24 3,750,000& = 14 3,750
OZdias E4IA 12,000,000& * 14l 12,000
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& 500 ExX3
Z: 510 2nEx3ES
& 511 2NLE3ES (2r9:88)
E.2-8-2 0l &k o8 B ol by Bl =2t
OSE U5MP S0I& HAXA MBI HEAL
414,000,000& * 14 414,000
<EBEAA > 51,994 116,822 A64,828
OlEA=x=] 51,994
O AR Ao A22e|Ab XI& 825,302& * 632! 51,994
< sgllsddy > 215,000 95,000 120,000
Ols=d&%] 215,000
OsEXNEIIEY 195,000,000& = 14| 195,000
O=s&23lles HES 20,000,000& = 14| 20,000
511-03 JI= 8,132,191 7,547,837 584,354
[ LBrs A ] 8,132,191 7,547,837 584,354
<@gttt > 734,410 266,733 467,677
olesusRZL] 196,565
020218 Zt2ZoHdA 4 M 33,565,000& * 14 33,565
O EE=30I2HAZ 163,000,000& * 14l 163,000
Ol2aMd] 537,845
O3 MHEXAE 2= 464,000,000& = 14 464,000
OZ3M THHLMAIE S22 31,500,000& = 14 31,500
OE3tM et&ZHIA HHXI 42,345,000& * 14 42,345
< EEMSEH > 761,472 196,285 565,187
ol2susRRR] 761,472
O O30k & AXZEL =4 210,000,000& =« 14l 210,000
Od AUMESZ WS E3A 180,000,000& * 14l 180,000
OMEBIS 2435 N XA (ROHBAE 100 X
Argd) 165,000,000& * 14l 165,000
OAE=2E 0l2A KNI 41,664,000& = 14 41,664
OBOAALEAZ 0BA KAALY  4,032,0008 * 14 4,082
Ot MEXEXZA i XA 73,080,000& = 14 73,080
Oz MEBHMESXEZX XA 87,696,000& = 14 87,696
<AL > 1,020,908 982,517 38,391
O[BH=XR] 25,137
Ogdots d=E+4 X2 25,137,000& = 14 25,137
CICEBIETS 995,771
OS22ItE MEHL=Hl K& 331,920,000& =« 14 331,920
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& 500 ExX3
Z: 510 2nEx3ES
& 511 2NLE3ES (2r9:88)
E.2-8-2 0l &k o8 B ol by Bl =2t
o&FEAHE 822 NEXE 2,851,000& = 14 2,851
OJtEEZHIi A 224l X& 738,000& = 14 738
OJEEZHMEA 2 N& 63,191,000& = 14| 63, 191
OJIBEIISN DEXSLI2 I 29
1,248,000& * 14 1,248
OAYINE U ULSANSNBMEH 2
128,150,000& * 14 128,150
OX0tIt= 22 0IF0HL COIS 1,500,000& * 14 1,500
OYEZUEAMEIA 70,232,000& * 14 70,232
O Atdll2tel XI& 15,933,000 = 14l 15,933
OsSHAMNHA XA 15,044,000& * 14 15,044
oxddge XA 17,362,000 * 14 17,362
oo0l=dN Jt=s838 =4 15,054,000& *» 14 15,054
og320nE =249 8,886,000& * 14 8,886
OFAUENWRARS 29 1,400,000& * 14 1,400
OFALEXIS A BHXIXI &AM 11,202,000& * 14 11,202
ost ¥ A4 XNJAHH 29 63,026,000& * 14 63,026
Ostu % A4 gAH K& 2,707,000& = 14 2,707
OFAYE SEI 2F 16,340,000 = 14l 16,340
O3FAHE oMY 2HA 51,495,000& * 14 51,495
oFAYE g=otatool 2949 173,232,000 * 14 173,232
oO3dAHE SEIH 4,260,000& = 14 4,260
< XSA=F D > 212,178 367,358 A 155,180
OlsgsuAES] 212,178
OSAX=HM #AEH 87,271,000& * 14 87,271
OANLAUSHSH(LBHRAMAIE)ALS 50,000,000& * 14 50,000
O DFHIJIEGIRA AXAY 21,894,000& = 14 21,894
OSEXNS(UN)MAMALSUHSALY 19,560,000& * 14l 19,560
O NSEMAMALEHUSAY 33,453,000& = 14 33,453
< FAHDF > 3,355,394 3,805,732 A 450,338
Ol=8FLAEL] 3,355,394
O =4 ICT 838 &AM 66,000,000& * 14 66,000
O &= ICT 858 &4AtY 60,000,000& = 14| 60,000
OstdsOtME XA 36,680,000& = 14 36,680
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& 500 ExX3
Z: 510 2nEx3ES
& 511 2NLE3ES (2r9:88)
E.2-8-2 0l &k o8 B ol by Bl =2t
O %Y EIXIZEH X& 2,040,000& = 14 2,040
OEZE g4 XN& 3,000,000& = 14 3,000
O =M AZE AN M K& 898,776,000& = 14| 898,776
O ZANZHAE JIAHEH 7 XN 60,000,000& = 14| 60,000
O XANZMME SN2 X 211,536,000& = 14 211,536
OHSUNEZLE ANLRAN HMZE N
1,070,280,000& * 14! 1,070,280
ONEBHUXNZLEE JIHEH XN 90,000,000& = 14| 90,000
ONEHINZHEE 7Y XN 188,220,000& = 14 188,220
O XNz S22 XN 25,200,000& * 14 25,200
O=sHE 29 (2gHl) 53,232,000& * 14 53,232
O3sEHE 29 (21AHHl) 51,534,000& = 14| 51,534
OEIAANAE & HUIXE 110,400,000& = 14| 110,400
OHXl 2288 XN=XHAL 12,000,000& = 14| 12,000
O FAAFHIHA XA 24,000,000& =14 24,000
O0tS=d EHINAS X 160,000,000 14 160,000
O El Myl & Xl XI& 30,000,000& = 14| 30,000
O ICT JIgt A H=HEHH X& 30,000,000& = 14| 30,000
O =42 HACCP 2148 X 10,400,000& = 14| 10,400
Osas0lg 2 XN (HERF) 39,351,000& = 14 39,351
ostn 2R=4 X& 122,745,000& = 14 122,745
A > 2,047,829 1,910,712 137,117
[BA=XR] 2,047,829
S22 D& HAXNY XA 120,000,000& = 14| 120,000
OMHEdEEs AZE 29X 700,000& = 12l 700
OXtsa&EsAI| X XN& 1,200,000& 104 1,200
O KNI EALSl HZ AL 33,898,000& = 14 33,898
OtHAEE 2 ANY WS 1,470,000& = 1¢l 1,470
Ogm0oF 248 38,181.9& = 220! 840
OCAZTUAIAX YLALATAIY  24,376.92 » 4830 11,774
O NS AMsSe AN AMEIA 124,550,000& = 14 124,550
OYRO0L LLFO HUA A 98,0002 * 30l 294
OSAB+BAN ALLX MY 4,0002 * 250! 1,000
O XA SESAZS ALY 248,243,000& = 14 248,243
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I 500 23
2 510 3DEEZS
3 511 INLEEIS (e &e)
H.m-8-2 Ol &k 24 & = ol Bl =2t
odaRR Azt X 390,000 * 409! 15,600
OO0I%0t & A&S0I40t Q2H XI® 333,334 « 99l 3,000
OFAWE M o224 X 600,000 * 19! 600
ON9E Ay o=y X 712,5002 * 8¢! 5,700
OEERNEALE 1,053% * 209% 220
OMES UEAAN L 2HI| N 16,0008 « 1259 2,000
OWHLNAOIAZ AL L Bot22l 250,0008 * 19! 250
OXIHXI222lHl XA 157,6808 = 500! 78,840
O ZIAATAY 82,8012 * 1,0009! 82,801
OB BHIXE 1,057,050% * 209! 21,141
OESAMCQ ZBSAAY 1,502,000 * 1744 1,502
OXMOANYH &Y 509,398,000% * 1744 599,398
Os|FEEX 224l X 1,884,6608 * 509! 94,233
O Mot & Xt el 17,3308 « 2009! 3,466
ONMHZYY 2A ¢ NEXE 77080« 3009! 231
OEAA TS 22X 17,840,000 * 14! 17,840
OYAYHMA X N 732,0008 * 1¢! 732
OEAA FHST A L W 17,5868 « 6429 11,290
OAHMABIZA S 26,0138 * 7921 2,055
OAHSN NEFEN XA 25,7158 « 35¢! 900
OZHAER S HANS Zae (LA HBHAAT)
14,3628 « 4429 6,348
OHIV ZEtAIS} DY 294,0008 * 124 294
oMgEssE 22 13,390,0008 * 19! 13,390
ORULES MY 25.608.58 * 16,0000! 409,736
ONAEAMNY L4 L2 ABLIDS
980,000 * 19! 980
OFAAL=N MY ol2iss 24,216,0008 * 39! 72,648
OJEBMALSXME 2 25,613,0008 * 1044 25,613
OSEBMUALZIANY 29 10,800,000 * 14! 10,800
OFAMAYSXME K& 0IYAY Qe e
17,658,000 * 19l 17,658
O00I= el XZH| 1,148,5008 « 49! 4,594
520 Al - CHIEE2S 34,841,766 35,015,581 A 173,815
521 Al - SHIBEZ2S 34,841,766 35,015,581 A 173,815
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09 i 0

500 Ex=
520 Al - SHIE X
521 Al - EHIEX

oin-oin

s |
=)
s |
=)

¥.p-8.-=2 O &k 0 0l & o HDE2
521-01 Al - CHIEX2S 34,841,766 35,015,581 A 173,815
[ 2ets) ] 34,841,766 35,015,581 A 173,815
<INHAAA > 105,780 30,220 75,560
OIIE-TER-E 1Y 105,780
OMNERR U ORUEINE B2X2l XA
5,580,0008 * 14l 5,580
oFURR 22252 NFAMY 600,0008 * 834 49,800
O 3% [IYS S AY 39,000,0008 * 14! 39,000
O YN FIH N A 9,360,0008 * 14! 9,360
OFUMEK HWLMSIH g =ei2 X
1,260,000 * 14! 1,260
OHE B RS X 780,0008 * 14! 780
< FOISXD > 5,870,410 5,657,807 212,603
OlzA=x=] 3,801, 160
O XIS AEI MBI A SRAHY 111,941,000 * 14! 111,941
OJtAZHY BEX ALY 14,470,008 * 14! 14,470
OFU&YOIX) X2 17,366,0008 * 14! 17,366
OFMA (RS X3 15,947,0008 » 14! 15,947
oOFMALZ S0 X3 194,622,0008 * 14! 194,622
OZOfALX2I NS (ZX LX) 22,920,008 * 14 22,920
OFoHl YKl K (Lers A Xal) 39,102,0008 * 14 39,102
O ZoHel Y Xtel K2 (A2t H L Xral) 7,878,0008 * 14l 7.878
O Z 00! XF2I Kl @ (A2 E 04 Q1 OO} )
2,017,008 * 14! 2,017
OMASHONG ZSHHl L ZAH X 240,0002 * 14! 240
OCi&FL BAHIE X 90,0008 * 14! 90
OZOHOl o 2H X 7,863,0008 * 14l 7.863
OO ESNE Z0f 170,910,000 * 14! 170,910
OFoHe BESXE S0 SO0l 382,0009 * 14l 382
OYLTHEALA X2 24,767,00080 * 14! 24,767
OWLHO FAHSAHHIA X 18,627,0008 * 14! 18,627
SO YUSSEHUIA N 8,992,0008 * 14 8,992
ORNWAUNFAL 2 97,502,008 * 14 97,502
OFWMANFAL JIS2AAEY 79,893,0008 * 14! 79,893
OZMAXNATHEAIL I SEAL 1,000,000 * 14! 1,000
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& 500 2=

2 520 Al - SHIEEXES S

ghr 521 Al - EHIEXZE (Sl &&)

Z2-2-8-5 Off &4 & E Ol At Hns2
OS8HS X8 SEAMHIA XE 2,772,000& * 14| 2,772
oZzg tYdl XN 164,160,000& = 14 164,160
oZzg 4yl XN 20,520,000& * 14| 20,520
Odzg 2=H N 39,297,000& * 14 39,297
oolgitel & AEsXEAY 790,190,000& =+ 14! 790,190
oJlz=d=a XN&E 840,471,000& = 14 840,471
O=kel SsS¢dHAMAE A 21,540,000& * 14| 21,540
O QSE=E=SAMEIA 262,800,000 * 14 262,800
OdA=N 638,612,000& * 14! 638,612
O off &t & M= 0 6,369,000 = 14 6,369
OXNgXtedy 29 33,295,000& * 14| 33,295
ON&EZZAMY 99,400,000& = 14 99,400
oXtg&a= 3,800,000& * 14 3,800
osYIN=SH | 986,000& » 14 986
osYINsSHI 3,396,000& = 14 3,396
ouglss% 1,178,000& = 14 1,178
o¥HsLI==E 1,715,000& = 14 1,715
OHUANEAHI 2,881,000& » 14 2,881
o2d=2=X XEAL 24,071,000 » 14 24,071
O S&Atell 22l A& 2,250,000& » 14 2,250
O SE Al 22l A el A H] 4,928,000& * 14 4,928
O[2A=X=] 2,018,460

O ZOHQ! ofOlIHA X & 1,023,000& * 14 1,023
OEEM SELH MHIAAE 6,736,000 = 14 6,736
O #3X& 50 &= FIXNE 23,833,000& * 14 23,833
OEEMEANMEA ZH FIOHXE 1,944,000 = 14 1,944
OZOMAAFAE X 11,232,000& = 1004 11,232
OZMAAFAIE SHIAH K& 150,000& * 12 150
OZMAXMATEANE 22H 64,100,000& = 14| 64,100
OHMA+=HSHEH 29 30,200,000& * 14 30,200
OFOMHASAI=XJAHH 29 11,215,000& = 14l 11,215
OZMAUELOISANAAME 29 64,226,000 * 14| 64,226
OFe==2AESHEH 29 53,284,000& * 14 53,284
OZOAOIESAIE SMHL SE€+=E N 7,776,0008 * 14 7,776
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& 500 2=
2 520 Al - SHIEEXES S
ghr 521 Al - EHIEXZE (Sl &&)
Z2-2-8-5 Off &4 & E Ol At Hns2
O&MA=Hua 22 1,500,000& = 14 1,500
O=E8R3k & FF=H XN& 500,000& = 50! 2,500
OFNREA Eil=& 20,000& = 3912 = 12& 93,840
O L QMEALE 2FH| 737,430,000& » 14 737,430
OMI=I=SXAIE 2l 453,572,000& * 14| 453,572
OMII=CISXAE SAX S 324,000 * 14 324
0Z3=zE =29 140,448,000 * 14 140,448
oZzzg #4ds XA 5,879,000& = 14 5,879
Od=2Y HIFLIANE £ 18,000,000& * 14 18,000
oZzgd ssHYY 2EXNE 6,300,000& = 14 6,300
Os0HE S8=SEE 294l 6,000,000& * 30H A 18,000
Os0HE SE=EE 2=+ 3,000,000& = 1042 3,000
ool 243 XN 12,010,000& = 14l 12,010
oL dog=2d) XA 1,065,000& = 14 1,065
O Motz @l ALAMEHE 15,240,000& = 14l 15,240
ON=AXNZOIE =S SHFLUI 6,372,0008 14 6,372
OI0TEE SHE A2 ol LHAHA
4,520,000& * 14| 4,520
OALIOIEEHE 29 1,500,000& = 14 1,500
OLQHAX ALY &SH 200,000& =+ 1Q1 = 12& 2,400
o=sg&d N 7,680,000& = 14 7,680
O Tt Atell 2tel 29 9,218,000& » 14| 9,218
OXNATEMNEH SAL SE€E 2,592,000& » 14| 2,592
OXNIAAMNISEEHAM A lAHHl  6,408,0008 * 14 6,408
o=sxJlsl 24 22,000,000& * 14| 22,000
OFL®Y 2Fae 6,000,000& = 14 6,000
OZYHMR ASEN Z2OH(MHEL2Y)
3,000,000& = 14! 3,000
OFMY 2 AR Z2I0d 24
12,000,000& = 14| 12,000
OFMe=X2 S4H XA 24,000,000& = 14| 24,000
OAZ Fo=sX2 24 125,943,000& * 14 125,943
Olzud=sAsa] 4,470
OXESAN2E K& 4,470,000 = 14 4,470
O[Xx & =] 42,720
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& 2x2
2 520 Al - SHIEEXES S
&: 521 Al - SHIBXSS (22 dd)
F-2-8-5 Ofl &F ot 8 0 oY Husz2
05. 1828 F=23X A& 42,720,000 * 14| 42,720
Ologinszg ] 3,600
Odd HE&EY WA 23 3,600,000& * 14 3,600
< ENI A > 2,481,895 2,518,138 A 36,243
Oz otd L] 747,909
OXNESSHL A 12,629,000& * 14l 12,629
oXNFedAdXtel At 16,000,000& = 14l 16,000
OXdY EY =2 ZEHE 447,500,000& = 14 447,500
OdY Y s44K8 830 |84 AlY
146,780,000& * 14 146,780
OXNIANSASH LI E AL 125,000,000& * 14 125,000
Oolng+Ls®] 87,211
OASIAIIY AL XA 2,500,000& » 14| 2,500
OAMIIEIIGLXeIEHEAS XS 8,866,000& * 14 8,866
OAMIIAEIIY MIEEE K& 264,000& * 14 264
odszdELXelEE N 75,581,000& = 14| 75,581
Ot S &R R] 603, 160
OXMIMUHUX =X AE 603,160,000& = 14! 603, 160
OlsgxsdAaER] 15,000
O 100 =HAl OlE0 HE 24= 1,250,000& = 12& 156,000
OlgXeldH2L] 734,275
OJIBENZI &X,ANE BEXS 252,600,000& = 14! 252,600
oY 25&d=2 NEAMY 196,600,000& = 14 196,600
oXYg A dXteldtH AtY 30,000,000& * 14 30,000
odY & LXiel XA 100,000,000& = 14 100,000
oOdY Y RAES+Y NFAMY 64,800,000& * 14| 64,800
OXJ HEE AHsth N 27,125,000& * 14| 27,125
OdEd 4050 sl Xcl&ei=s NE 40,000,000 = 14 40,000
OlIS=SH EsXNEAEY 11,400,000& = 14l 11,400
O ARl REMIIY Al&&0IX& 3,750,000& * 14 3,750
OXdE™d UUIOSI1e SdAY X& 8,000,000& » 14 8,000
Olddns=] 278,500
OsHEHA HEXES 150,000,000& = 14 150,000
O3ZHA HAXA 12,000,000& = 304 36,000
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& 500 2=
2 520 Al - SHIEEXES S
ghr 521 Al - EHIEXZE (Sl &&)
Z2-2-8-5 Off &4 & E Ol At Hns2
OZMAZEAN 29 2,500,000& = 5CH 12,500
OsHEHASZE £X EXAMY 40,000,000 * 242 80,000
OlZHAUXI=] 15,840
OMNMYUS INAQMEI BS ALY 4,500,000& = 14 4,500
OXMTHEUHUXNES FEHX A 11,340,000 » 14 11,340
<SRN > 86,817 57,783 29,034
ODI&ExHEA] 34,853
ONeted T AFSIZ AL 15,386,000& = 14l 15,386
Os0HE =AHUAHAUY 25 17,280,000& * 14l 17,280
O&3A LEANLAE 2= 2,187,000& *» 1042 2,187
O[T elord Al 14,140
OgENH=Z SdX& 4,140,000& = 14 4,140
O0ZYE s8I, S817 & L& £
5,000,000& = 202~ 10,000
OIXNXIHE=] 37,824
OMOIESXIEX XtH E&E3 675,000& * 62 4,050
OsZEXY 202 ZA K& 13,500,000& = 20H 1l 27,000
OsZEXNY =20 A0 A XI&E  6,774,000& * 141 6,774
< 2ot > 1,787,733 1,390,428 397,305
O[2Z2sd==] 1,787,733
OEEZUHA B ™ot 7,000,000& = 14 7,000
O 2wt HsLd 9,050,000& = 14 9,050
O SEgE30IsSHAEY 20,000,000& * 14 20,000
O SEAMEIz=2 23X 6,600,000 * 302 19,800
O2NNAE L SE23M EFH(5Y)
137,780,000& * 14 137,780
O 23 AMAHA HiXI 12,703,000& = 14! 12,703
OSNNIA23IH ES ALY 7,800,000& = 14 7,800
ONuME3Y EZAMY 10,800,000& = 14l 10,800
O HMESIM At 7,800,000& = 14 7,800
OEXZE 23 E= UMY 35,000,000& = 14| 35,000
OEE2sM 252 (LS #4RE L2 XA
150,000,000& * 14 150,000
ONSAE EFHHAEY 40,000,000& = 14 40,000
OS2 s4 Zel XA 30,000,000& = 14 30,000
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500 Ex=

&
2 520 Al - SHIEEXES S
ghr 521 Al - EHIEXZE (Sl &&)
Z2-2-8-5 Off &4 & E Ol At Hns2
OltetE2sts& cl22d 400,000,000 » 14 400,000
O EE¢4h 1002 =dz2 dEegd 2T gAY
450,000,000& * 14 450,000
o0gdg == UL HMEANE £X 150,000,000& = 14 150,000
O &4 AHIOIEAF =4 200,000,000& * 14 200,000
OE=4 EANEEZ =4 100,000,000& * 14 100,000
<E2BHMSH > 5,875 34,752 28,877
OZ22aH=s=2] 5,875
OAE=2A 018 NIAMI 5,357,000& » 14| 5,357
OFMAAZ=2E 0l2A NFAY 518,000& = 14l 518
< SEQFY > 12,000 8,000 4,000
O[EX 2te|nt] 12,000
ORsStAmd OIdSIIY 28 822 M
3,000,000& = 14 3,000
O=JIXNEESE ML 4,000,000& = 14 4,000
Ok &gl Z2ET2H HUHAIE S 5,000,000& = 14! 5,000
<HAEMNEY > 6,944,503 7,169,854 A 225,351
O[2Ad=X=2] 3,643,085
OZAHEXNs Ot M 634,000& = 14l 634
OOIS=EXNANE 25ZTE0ts NHE=E  4,186,0008 » 14 4,186
ORESOtsSZLEAR X 5,494,000& = 14! 5,494
oots=+¢ A& 253,810,000& * 14 253,810
OZRo 288 X& 661,452,000& = 14l 661,452
OJtd &=s+¢ K& 160,003,000& = 14 160,003
OOs=2X& AId2F =&Y 83,000& = 14| 83
OOSESHERA o2Add XN 1,888,000& = 14 1,888
OJERENS HdallEEE X& 235,000& = 14l 235
oYgdots dF+< X 3,232,000& = 14 3,232
oolgold Jls:2& 49,401,000& » 14| 49,401
OEFuAY l2dd & 1,788,983,000& = 14l 1,788,983
oogold 24 X 46,063,000 = 14| 46,063
OEsRuAF MM XA 382,457 ,000& * 14 382,457
ORZ Z2LIHEH 2g 700,000& » 14 700
OXNgotsdE 24Hl X2 199,368,000 * 14 199,368
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& 2x2
2 520 Al - SHIEEXES S
&: 521 Al - SHIBXSS (22 dd)
F-2-8-5 Ofl &F ot 8 0 oY Husz2
OSdE8 XNY0tsHH FI0tX& 5,659,000& * 14| 5,659
OXSotsHdH &ZMsd X2 6,000,000& » 14 6,000
OUESHESSAE (BtR-XIXH SH22E)
4,440,000& * 14 4,440
OOts=X WA ItA X 47,974,000 = 14| 47,974
OFHAANE OlsSEAMHA XS 21,023,000& = 14| 21,023
OlH4dItEs=] 274,979
OMZHH XIE 2F 45,579,000& * 14| 45,579
OStRI2IE HHLd=H K& 41,490,000& * 14| 41,490
oFAYE BR2 NEXE 356,000& = 14l 356
OJIE=4dTIoi &t 2=2H K& 95,000 = 14l 95
OJNE=ZHYERS 28 XN& 18,957,000& * 14l 18,957
OJNFEH Ik WX T2 29
160,000& * 14 160
ootols=s N¥ 82,505,000& = 14| 82,505
0HZIHE & URIHEXNJLH 2<%
38,445,000 * 14l 38,445
OHOIt= ZE 0104 OOl 450,000 = 14 450
OZ2NEAMHIA 21,070,000& * 14 21,070
O At el XI& 4,780,000& * 1Al 4,780
OsSHIANMHA XA 4,513,000& * 14 4,513
oxdHEe XA 5,209,000& * 14 5,209
o0z IH=EEE =4 4,516,000& * 14 4,516
og320duns =249 2,666,000 * 1Al 2,666
OFAYE ALXIAAMNZ 3,274,000& * 14 3,274
oFaxd SEXNE 914,000& * 14 914
[AlZ oAt B A ] 21,821
OXNXAM DNz 2e XA 421,000 * 14 421
Oogolasas dgaeld 24 400,000 = 14 400
OeolsSazeNALH &X 2949 21,000,000& * 14 21,000
O[H&ItEZ & 2t] 2,932,087
OAME0lES et EHIZ 900,000& = 14l 900
OAN&OtEs MEE=E 6,984,000& * 14l 6,984
OOSSEXNAIE SAKN S8 11,016,000& = 14l 11,016
OOsSSEXAIE 2EH XA 201,483,000 = 14l 201,483

_33_




09 i 0

500

520 Al - SHIE X
521 Al - EHIEX

H X2

T~ s

Z2-2-8-5 Off &4 & E Ol At Hns2

O Eax0ls NHEZFEHS A 4,500,000& = 14 4,500
O AME0tS =5 &l 180,000 * 14 180
OOS=XNAL Ol [HEgEZ2IY 22 X

1,560,000& = 14 1,560
O8JlsE E, 825 Oots=4ldl N 141,075,000& = 14! 141,075
o gst=E ors=AH K& 40,095,000& = 14| 40,095
OJIEREOSHNU RIZ= XN 2,304,000& = 14 2,304
OJEAEOISHI HERM ==t 960,000& * 14 960
OJIE=IE0tE S Z=HIS 1,350,000& * 14 1,350
OJtE?& 205 NEdxn=s NA 7,500,000& = 14 7,500
OJtE=IE 2FXH 9,840,000& = 14 9,840
OFclud X& 2,116,296,000& » 14| 2,116,296
o2t oelold X3 47,931,000& » 14| 47,931
oolgold elZet 75 109,029,000& = 14 109,029
OXNotsHE ZHXHAMARA 150,440,000& = 14 150,440
038 CEAHNAER XNE 14,400,000& = 14! 14,400
OMaSs S#R2IHE N 35,982,000& * 14| 35,982
ONE=EHAY & SAA S+ 2,212,000& » 14| 2,212
OJNE=H Tol MY XA 1,275,000& * 14| 1,275
OMZHH SAXR &sHl X 5,760,000& * 14| 5,760
OMLHE AKX MRMHAH XA (KA

6,624,000 = 14 6,624
OOIOIS =0l AZHAH XA 315,000& = 14! 315
OZE0204 &R0 2 5,242,000& * 14| 5,242
O0t= 0ol U2stolainsy 29

1,560,000& = 14! 1,560
OZE02Xt FHHFASHE N 1,710,000& = 14! 1,710
OJINE & USINESXNZHE SMA SESE

3,564,000 = 14 3,564

Ooledagaa] 45,377
O BACHE] S8Y AtY 45,377 ,000& = 14| 45,377
OIXxHHE=2] 27,154
ostn & Fad HF0=¢ 2,340,000& = 14 2,340
OHAUME=EXNEH 28 N& 24,814,000& = 14| 24,814
< ESIEEY > 723,561 2,748,317 A2,024,756
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& 500 2=
2 520 Al - SHIEEXES S
ghr 521 Al - EHIEXZE (Sl &&)
Z2-2-8-5 Off &4 & E Ol At Hns2
oEz=] 723,561
O MEHCHE SRAAMS(HE) 200,000,000& = 14! 200,000
OHMIINSA B2 ESAY 1,488,890& = 9904 147,400
OHIISEXN(AE) BESAY 1,400,000& = 29CH 40,600
OHIIOIEX ESAH 480,000  8CH 3,840
OFAHS BELH ESAH  800,000& * 5CH  40% 1,600
OOfdsSA=E E5d RY 7,534,000 = 14 7,534
OOFES =0 28 s&=E L2243 5,400,000& = 14 5,400
ORMOIMES=E ZEEaa NIAL 5,400,000& = 14 5,400
OFiOldESE L8 B3 KNI MY 2,912,0008 * 14 2,912
O OF&4SUEH XI AFMIA 2l bl 6,345,000 = 14 6,345
O EdOIEXM2 XEAMY 123,050,000& = 14 123,050
OLZFEIEARA EINHA XA AL 70,400,000& = 14 70,400
O LPGat= Xt &IXH= XI& AL 16,000,000& * 14 16,000
ODPF 22 X2 At 22,800,000& * 14| 22,800
O HEJIH DPF 22 XA 880,000& * 14 880
OAAIIH MM X & A 13,200,000& = 14l 13,200
omJa=sax KA 2cldl  18,000,000& * 3 A + 30% 16,200
O=sZ HHE =HEY=S 40,000,000& = 14 40,000
<zdE=Z > 7,603,575 6,723,231 880,344
Ols8gs8AER] 1,077,016
OZAZHM=MH X2 68,626,000 * 14| 68,626
O=AqZIHLEE (HE= 204085 2488 X&)
3,600,000& = 14 3,600
OSENENES LAY 324,000 * 14 324
O=EHNMEE dHFMEE HAXNE 577,000& » 14 577
OsENESL0e M2 WEXE 11,340,000& = 14l 11,340
O==08 AUlA otdIs XM 55,000& = 14 55
OsZELEUAHN AL 36,000,000& = 14 36,000
oFYE =g s XA 47,687,000& = 14 47,687
OsZ& ES02A WML 10,275,000& * 14l 10,275
OAMYXNESSS(EY)ZSN 18 2ALE X
7,200,000& * 14 7,200
ORdl OFsSE EZEEALE X 396,000& * 14 396
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2 520 Al - SHIEEXES S
ghr 521 Al - EHIEXZE (Sl &&)
Z2-2-8-5 Off &4 & E Ol At Hns2
O= Et&= X & 51,600,000& = 14 51,600
O= B&=2 2Xs us 28 XN 3,600,000& = 14 3,600
O= Bt&= =Xs AIEEHl XA 60,000,000& = 14 60,000
OsgIIH Sat&EX BFXE 14,706,000& * 14l 14,706
ORJIsSEXNMAA 39,344,000& = 14 39,344
OZESZHR(ELMHEHM)XE 126,382,000& = 14 126,382
OCEYIHEN ss&2H X 12,598,000& * 14l 12,598
OstESUXN=7SHEHX S AL 306,000,000 * 14 306,000
OGAPHE E 24 XI& 11,250,000& = 14l 11,250
OsitE SSE0 2UAA 27,800,000& * 14 27,800
Os4tE OHAHE NS A 1,080,000& = 14 1,080
OAERN HUEXIOIE EE3AY 6,720,000& » 14| 6,720
O=ZE0F ATHAWUHX AIEXI& 17,013,000& * 14 17,013
OxXS=Ssua WA XA 4,121,000& » 14| 4,121
odadsg Jlg=E ALY 179,100,000& * 14 179,100
OANZZUS S (LBHRACAIE)ALL 7,500,000& = 14 7,500
O DFHIItgoteA XX 3,284,000& » 14 3,284
OSEXNS(04) MAAL SUSAIY  8,802,0008 * 14! 8,802
O NEHMAALSEUHS ALY 10,036,000 * 14 10,036
Olsgs8AaE2] 6,526,559
Ost=s0adE B3 11,502,000& = 14l 11,502
ost t=ss=4 A& 92,868,000& * 14| 92,868
OsZEHNEits 822 29 2,000,000& * 14 2,000
OsZEHNEz20ls SSMHUM HEXE
17,496,000& * 14l 17,496
OsENEs20tS 243 N 15,000,00021 = 14 15,000
OsHEQE ALHMAIL XA 1,000,000& = 14 1,000
Osgaly sthsXE 1,633,000& = 14 1,633
O =sJt=20 XN& 2,441,000 » 14| 2,441
O=s83MX= OINXHXA 112,027,000& = 14 112,027
Oosgel =M X& 6,180,000& = 14 6,180
Odsge dsu2*xd X 203,436
Oddgkr =02 S2=+E 2,676,240,000& » 14| 2,676,240
OH 223 UK (ZAY) 44,301,000& » 14| 44,301
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& 500 2=
2 520 Al - SHIEEXES S
ghr 521 Al - EHIEXZE (Sl &&)
Z2-2-8-5 Oll &F o & E Ol At Hns2
Osd= TV 848 24 X& 10,000,000& * 14 10,000
odgd BHOANEE EHiHl XA 6,000,000& = 14 6,000
O =sit= =2cte THiH 20 5,000,000& = 14 5,000
OZZREL HE EdtsatE AdH ZAH X
3,825,000& = 14 3,825
CHUASHEHN F2ZM XA 27,000,000& = 14 27,000
CRUSEXHS MaDigt 2FAY 73,350,000& = 14| 73,350
Ozt 274 A& 90,000,000& = 14 90,000
O==SEOHE2S XA 33,000,000& * 14 33,000
O34k Y MMHX NSHALE X 3,600,000& = 14! 3,600
< Atgof et > 2,700,236 2,606,203 94,033
Oad] 783,887
OFANM2I &4 W= 38,0008 » 89 304
OADEIJE =HEAMY 1,500,000 » 10K 1,500
O3NExd 603,000& * 41ha 24,723
O2URxY 1,807,200& + 10ha 18,072
OXNASSEE 3,122,034% = 30ha 93,661
ODIMEZX H2z2xd 2,200,000& = 2ha 4,400
Ouat+=8lixd 2,250,000& = 5ha 11,250
O EM=It R 250,846& = 785ha 196,914
OONIMZNMZES SA=IHRI| 271,200& = 100ha 27,120
O 23L& IR0 3,713,546& » 11¢l 40,849
OYHINAHETH 25 A 3,000,000& = 1CH 3,000
OMN=E &S3IAHE Hd 20,7473 » 1,487ha * 15% 4,627
O YuaE I3 969,800 * 25JHZ » 20% 4,849
oOYds M&E E AXAIE 2,985,000% * 20004 * 20% 11,940
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I 500 23
2 520 Al - SHIZEZSS
8: 521 Al- SHIRXZ2S (e &e)
¥.p-8.-=2 0l &k o HE ol ok HR=Z
OMAE S RSIIXKM 1,704,545.590 » 2204 * 20% 7.500
oYNE MES 1,788,00080 * 5004 * 20% 17,880
O At ALY 91,631,0008 * 14 91,631
ONHELEEY 30,000,0009 * 144 30,000
O YT AIH(2A4) 65,740,0009 * 1044 65,740
OAMEHE0YA 3 77,009,0008 * 13| 77,009
ORI (ZAH) 48,500,0002 * 13| 48,500
O ELRIChR (K2H) 1,053,0008 * 18l 1,053
O YBrHH S LA 802,0008 * 13| 802
OMBALSTE X 563,0008 * 13 563
Ol g4 2] 2,550
OHEOEENY A 10,000,0008 * 221 * 9% 1,800
OMYERE ELAMY 0TS Al
2,500,0008 * 1% « 30% 750
Ol ar=] 703,835
OSMSAXIIIBAIZAS  1,083,334,0008 = 2)HA * 30% 650,000
04l BBA2 BZAY
7,0008 * 34,555 x 128 « 15% 435
o462 2TXH S X 10,000,0008 * 1JHA = 18% 1,800
O4a2 AHMES MIAAE  12,000,0008 * 24 * 15% 3,600
OFMTZR (LSS A0S X AY)
4,0008 * 30,000kg * 30% 36,000
OHAIEI B AN LAY 40,000,000% * 1JH = 30% 12,000
olseRxes] 1,209,964
OZN&EZH(YEINZS) 150,000,000 * 1744 150,000
OZANEZH(2BMLYS) 30,000,0008 * 1742 30,000
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2 520 Al - SHIEEXES S
ghr 521 Al - EHIEXZE (Sl &&)
Z2-2-8-5 Off &4 & E Ol At Hns2
OSAN= =& (Ha=) 30,000,000& * 1JH 2 30,000
OEANE ZH(=M8X=) 100,000,000& * 1JH A 100,000
oussd x4 45,000,000 * 1J0HA 45,000
O==2dy =0dH = 90,000,000& * 1JH A 90,000
OSSHIEE =EAMZ 110,000,000& * 10H 2 110,000
OEHAHIEZ HllM &2HAE XA 2,857,000 * 202 5,714
O=30IsUALERE 600,000& = 20¢! 12,000
oOHSA(HEs) M2 moiole AlEAY
30,000,000& = 6ha * 30% 54,000
oXdEzYdol X (EX) 707,000& 12/ 707
OYEAIE(ZHY) 220,043,000& = 10024 220,043
odzgd sitzxd 250,000,000& = 1004 250,000
OEs= &l 12,500,000& = 13l 12,500
OROtl= MEd =4 100,000,000& » 1JH A 100,000
< Fohk > 1,478,697 1,092,431 386,266
Olsgs8AaEZR] 688,659
O&t ICT 858 =H4atAg 18,000,000& = 14! 18,000
OStMsOHME XA 13,692,000& = 14! 13,692
O ZAZHAS AtLelX ME K& 179,755,000& * 14 179,755
O ZAZHMAE JIAHEH Y XA 9,000,000& = 14! 9,000
O7HME & AlMZEAE 7 ANJFOI=HA)
48,540,000& = 14| 48,540
OFMS ogsa X& 185,449,000& * 14 185,449
OFMA & Al HYAS Y N (HEE2FHH])
48,720,000& = 14| 48,720
O7HMA & AlNEAE 7 N (HESHR)
3,659,000& = 14 3,659
O7HMS 2 AlMEAE 2 NS =01 2E2el)
25,200,000& = 14| 25,200
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2 520 Al - SHIEEXES S

ghr 521 Al - EHIEXZE (Sl &&)

Z2-2-8-5 Oll &F o & E Ol At Hns2
O&XE Ed= 20,000,000& * 14| 20,000
O&4XM=2 IJt= HMcl&d X& 18,000,000& * 14 18,000
OZsgHg 22 (24Hl) 15,969,000& * 14l 15,969
OZsgHg 23 (2 2AHl) 15,460,000& * 14l 15,460
OYHANE & FHIXNE 33,120,000& * 14| 33,120
OHX AR2dEE N=XEAE 3,600,000& = 14 3,600
OHIED =M XA 7,301,000& = 14 7,301
O =4h= HACCP A& E X & 2,340,000& » 14| 2,340
O=dts0lg e A (HE2=Y]) 11,805,000& = 14 11,805
OHed&ExsE XA 4,500,000& = 14 4,500
ostn 2rs4A XNE 24,549,000& * 14| 24,549
Olsgs8AaE2] 790,038

OIJ37 AMZE EHIHA 13,500,000& * 14 13,500
OYy=dod g X& 21,600,000& * 14 21,600
OJt= ZEUloh ol 48,000,000& = 14| 48,000
OJ= MolE2E NN 45,000,000& = 14| 45,000
Ot*sSEXNE 17,500,000& * 14 17,500
oO&t® As=Z8EX A 11,880,000 14 11,880
OZa datd &a N& 7,750,000 = 14 7,750
OMNs 3+ X 4,536,000 = 14 4,536
O=2F MEAME & I X& 5,000,000& = 14 5,000
ogsay X& 11,400,000 14 11,400
ostsdry X& 1,200,000& * 14 1,200
Ost® SoXEHE SLXJ (A 200,000,000 = 14l 200,000
OFMAsS Jtsdges N 14,400,000 » 14 14,400
OHXNMAIISEIS=Z HAX 18,840,000& * 14 18,840
OJt=2d HASZHM XA 12,160,000& = 14l 12,160
O BIOIHAALEEAE Ol al 28,500,000& * 14 28,500
04 FAs olgde XA 7,980,000 = 14 7,980
O 4 HAdE I 25 X2 7,440,000 * 14| 7,440
OXA RYZ B XA 17,600,000 » 14 17,600
OH ZEZE 9w X3 9,250,000& * 14| 9,250
OFHSE HIEES MsFAI XN 4,200,000& * 14 4,200
04+l st d28l XN& 12,750,000& = 14l 12,750
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& 500 £EX3
Z: 520 Al - SHIRZZ2E
8: 521 Al - SHIEEXZ2E (2l &)
&H-a-8-5 Oll &FoH & 0] A oH Hlw =2t
OOFMZR XM X 3,300,0002 * 14 3,300
OXA SEMNSHM X 28,800,000 * 12| 28,800
OXA RYY HYSE X 5,625,0008 * 14| 5,625
OSahsIh AHMZM B3 76,250,0008! * 12 76,250
OSahsIF AFHMLALE XA 9,000,0002 * 14 9,000
OFEZF OIS HES2MALA 11,400,000 * 14l 11,400
OFEA HEEX HH X 10,100,000 * 14l 10,100
OSE=ENE S84 SHX& 15,000,000 * 14 15,000
oY== (HY) e XA 9,000,0002 * 14 9,000
ORESFEAE QASY X 69,037,000 * 14 69,037
OHsIt HRAE HAAY 27,000,0008! * 12 27,000
0RJIsSES BSHH 294 XL 5,040,000 * 14 5,040
< OHEMAH 3,067,923 3,143,470 AT5,547
OlsgsaazER] 2,458,000
OBA NEXT LIISHHHIAIY (HEALY)
778,000,000 * 104 A 778,000
OO0l AT SHEXP LISHHHIAY(HEAY)
500,000,000 = 1J{ A 500,000
OZHE ZAUXF LIHHUIAY (HSAY)
202,000,000 = 10{ A 202,000
ODIEXT $2lAENBEAY (HEALY)
228,000,000 = 10{ A 228,000
OMMIT S2lAENBEAY (HEALY)
240,000,0008! = 104 A 240,000
0ARD =A|BAI L FH ALY 510,000,0008 * 14| 510,000
O[AECAI=] 469,825
02021 A2 K AMLAY 310,000,0008! * 14 310,000
020218 XYE 22 QA 159,825,000 * 14l 159,825
Olzolotd Al 140,098
02021 ROIHNEE It X 9,600,0008 * 13 9,600
020214 otFRF2S =& 20,000,0008! * 13 20,000
02021 CHAEF2E ZUHA AR D 4250008 * 43 1,700
02021HdE WEAMD AFLX HE £0/J] At
102,200,0008! * 14l 102,200
onge WE2HHl X 1,262,0002 * 12 1,262
OZQIEN Yol & &3 FH 380,000 * 13l 380
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B 500 X2
B: o520 Al - SHIRZZS
8 501 Al - SHIBEZ2S (S5 & 9)
H.o@-g-2 ol & =0 ko HDS2
OUYS DT ALY 45,000% * 203] 900
OHIALE Al AOIHDS X & 3,000,000% 13l 3,000
oolwe FLOIAL Fil 105,6008 * 1074 2 1,056
< SAMED > 1,110,920 932,531 178,389
SIPIEEX-FS) 136,000
0% SEXNT SOE HAXA MBOIA HEAY
55,000,0008 * 14 55,000
ONZ AEXT SOE HAXA MBOIA HEAY
44,000,0008 * 14 44,000
OSE YXT SOE HAX MBOA HEAY
37,000,0008 * 14 37,000
OolestaBHS=] 200,000
0YY LUOTY ELAY 200,000,008 * 14! 200,000
OlAens=] 774,920
OLAS TATMALY 273,000,0008 * 14 273,000
OSUHEINL FLUWXX AL 3,420,0002! * 14! 3,420
OFNHSO NRAY 188,500,000 * 14! 188,500
02RBXANLAIL 310,000,0008 * 14 310,000
<BAL > 508,565 408,966 99,599
OlzA=X=] 343,126
OSOZEATMEIA HEAY 71,204,008 *1A! 71,204
OXNSHEEAI 23 X8 30,0002 * 1CH 360
OXAMEIT SANAMNYIA 24,910,0009 * 14| 24,910
OXAS SEHALSHAY 49,649,0008 * 14 49,649
OSEZAUALSINY 2% 3,240,0002! * 14! 3,240
OJEFAAL=NMEH 2% 7,684,008 * 102 7,684
OYySABB2IANY 4,307 .58 * 3,8602! 16,626
OFAMASSXME K&KLAY 012 X
5,297,008 * 1ol 5,297
OMDAMOL AL B2 A IR 106, 1128 * 63¢! 6,685
ONASE JIHA ZHNER K& 84,0002 * 1250 10,500
O MOHEHM el 2 HIX & 415,780% = 92l 3,742
OBtHIAOIYZEE 2K 2,503,008 * 43l 10,012
OMMHHY 2a L NSX S 6902 + 1002l 69
OURNTBUA SRKH 293,002 * 19l 293
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500 Ex=

X} -
B 520 Al - SHIPESS
S 521 Al SHIEE2S CEEE)
.32 0l &t o & 0 ot o HZE2
OF2AA ZHBT AA L MK 7,0358 * 64221 4,516
OB TAl S 781180 * 7921 617
OB NEHET XA 10,2868 + 35! 360
OZHIHT S FHANS NP AN
5,74581 + 442! 2,539
oug=s Az N 195,008 * 400! 7,800
OHAEAD o2H X 300,008 * 19l 300
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